
As you said, I first remove the capacitor and TVS at the output end. 

 

The picture below shows the current configuration. 

dvdt sets Open 

RETRY_DLY sets 1 s retry delay 

ITIMER sets 20 ms delay 

NRETRY (J4 Position) sets Infinite 

 



The capacitor has been removed, which looks more consistent with Excel's calculation method. 

After short circuit protection, it can also be successfully powered on with the load. 

 

In Test items 5, it seems that the TSD protection is triggered, which means that if this test item is to be 

carried out in CR Mode and started with load when restarting after a short circuit, its limit may be around 

6.7A. 

 

The reason why Test items 5 failed seems to be that my voltage did not rise fast enough. 

To trigger the protection function of TSD, is my understanding correct? 

 

 

 

  

Good to hear this.

Yes, your approach is correct. We don't want TSD to trigger during startup. Resistive load takes constant current so fast startup is better but capacitive load will draw inrush current so fast startup will result in higher current drawn and higher power dissipation. Depending on load type, we select the startup speed.

Yes, here only resistive load is present. The device can fail startup in case of very high loads before startup. I think that is happening here. Your dvdt pin was already open so the device was already set for fastest startup slew rate.



Test items1.CR Mode R:6Ω(I=3.34A)，Vin 20V。PASS 

The picture below shows the current configuration. 

 

The picture below shows the results of the test. 

The picture above shows: the status at startup. 

The picture below shows: the state of restarting after circuit breaker protection. 
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Test items2.CR Mode R:5Ω(I=4A)，Vin 20V。PASS 

The picture below shows the current configuration. 

 

The picture below shows the results of the test. 

The picture above shows: the status at startup. 

The picture below shows: the state of restarting after circuit breaker protection. 
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Test items3.CR Mode R:4Ω(I=5A)，Vin 20V。PASS 

The picture below shows the current configuration. 

 

The picture below shows the results of the test. 

The picture above shows: the status at startup. 

The picture below shows: the state of restarting after circuit breaker protection. 
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Test items4.CR Mode R:3Ω(I=6.6A)，Vin 20V。PASS 

The picture below shows the current configuration. 

 

The picture below shows the results of the test. 

The picture above shows: the status at startup. 

The picture below shows: the state of restarting after circuit breaker protection. 
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Test items5.CR Mode R:2Ω(I=10A)，Vin 20V。FAIL 

The picture below shows the current configuration. 

 

The picture below shows the results of the test. 

The picture above shows: the status at startup. PASS
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The picture above shows: the state of restarting after circuit breaker protection. FAIL 

 

Auto-retry status
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Waveform in Auto-retry state during Fail 

Use the oscilloscope's cursor to capture the waveform. 

At this time, Vin: 20V, VO rises to 17.2V, and current: 8A. 

It seems that TSD protection is triggered. 
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Is the device showing good test result in startup with Enable i.e. Vin is high and EN is low. You pull EN high and see if the device can startup. On EVM, to test this you need to press S1 switch and later release the switch to pull EN high. 

Here this is the only difference I can see between the startup waveform and the auto-retry waveform. 




